SUSFELCT

£
=L+ a0 i = Ej
£ -
wn |
3 || N
Tower A | TowerB | Tower C | TowerD f “ 8
n H | ©
(@] 50.71° = =
o - — | [Fastor | 150058 B .
\ North y ,3 ? [ | |
41 .2° | ‘ (| K &l :
(@] . ! X
< — West of — 23252\./\?; « g R 2
s South Y -
o 1450 ol =5 LT
Q — I — South of 11T (AEEEEEEEEE
A ‘et away NN | | | /
< East . _J ;_}_ _ll -H
=) 6.58° 34.44° d'—'l { ]
™M | South of | | [North of — — §I ]
s West West ~ /
=) 62.9°
< — f8669'8 — North of «
- eet away East K
3669.8
62.9° 4000 ft.
4000 ft. sin 50.71 sin @
— 5770 1. = =76.70
1590.56 2000

6.58°
83.420

200

5.56°

34.4

2. Find the other angle using
1800-others.

3. c?=a2+Db?-2abcosc

Finding “c” will enable you to
create your triangle

4000 ft.

o

Find the green-grey angle by using law of sines.ml
you know the grey line goes in that direction, you can
make that angle “c”

Then you can subtract those angles from 180 to get
angle “b”

From that, you should be able to triangulate!



